Answer on Question#65582 — Math — Statistics and Probability
Question. Which of the following statements are true or false? Give reason for your answers.

iv) If correlation coefficient between x and y is 0.62, then correlation coefficient between u and
v will be 0.62, whereu =5+ 6xandv =7 — 3y.

Solution. We shall use the following formulas:

_ cov(x,y) _ E(xy)-E(x)E(y)

Pxy Ox0y Ox0y

(see https://en.wikipedia.org/wiki/Pearson correlation coefficient). Then

E(uv)-EW)E . . . .
Puv = W During computation p, ,, we shall use the properties of mathematical
uv

expectation and standard deviation

(see https://en.wikipedia.org/wiki/Expected value#lLinearity

and

https://en.wikipedia.org/wiki/Standard deviation#ldentities and mathematical properties).
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= —pxy = —0.62 # 0.62, and we conclude that the statement is false.

Answer. False.
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